2 200000

000 40000000000000000000000C0O0000O0200000000000000
ooooo2000 z,y00000 00 2,y000000000000O0O0O0O0OOOOOOOO

(xlayl)v ($2,y2)7 T (xnayn)

21 OO

e 000 000 #,y000000000000000000000 (¢f. 000 pp.4l, 42)0

e 000,0000
T1, %9, T, 0 y1,Y2,- , ¥ 000000000 7g000000 84,5,0000
0000020 yO0000 84y O

oy =A@ =T — )+ (@2 =~ Da — D)+ o =D D = = D (s~ T — )

gobtdzOyOdOoODOOO rQd

825y
oooooooods, >000 s, >0000000000000000000O

n

021 s,,=75—Fy 000000007y = xy;. 000: s2(=v,) =22 —220000000

1
n ;=1
ogd 2.1 (1) o000 r00000-1<5r<10000

(2) r=1000000R0000000000000000OODOOOOODOO

(3 r=-1000000n000000O0O0O0DOOO0OODOOOOODOOOOOOOODO

00: 00000000000000: (a1bi+agby+---+anbp)? < (a12+a2+- - +a,2) (b > +b2>+- - -+b,%)
Oay=xx—%, by =y, —y00000000 (1)0000000000000000000000O0O000
000000000 ¢00000000 k0000 br=caq, 000000000007
c>0000r=1000 gy, —F=c(z, —T) 00000000000 y=c(z—Z)4+50000
c<0000r=-1000 gy —F=c(ax—F) 00000000000 y=c(z—T)+7y0000

0o (2),3)oooo O

e 000D,0000 0OOzOyOOOO
000000000000000000000000020000 #,y00000000000000
000000000000000000000000020000 2,y00000000000000
000000000000000000000000000
000000000000000000000 (¢f. [2], p.60)0
() 0000 =07~10(000 =-07~-10): 000000000 (0000)0000
(i) 0000 =04~07(000 =-04~-07): 00000000 (0000)0000
(i) 0000 =02~04 (000 =-02~—04): 000000 (0000)0000
)

(ivy 0000 =-02~02.0000000000

n
10000000000 0000000000000000000 Z(akt—f—bk)QD t0000d0oooooooooooooo
k=1

1



00 21 (1) 00000 «y00D00O0O0OD0OODOOODOOOOUOODOODOUOODODODOOODODOODOOD
0000000000000 000DO00000000D0O00DO0O0O00 (DO0ODOODODOoDOOOoOooOo
0000o000O00)o0b00o000O00LU00000O00LO00DO0ODOU0LO0OOD0ODOOOODOOD
cooboooooboooboooooooooooooooooboooooboooooooog

00000000000000000000000 195900000 3000000000

1. 00000000000

2.200000000000C0CO0O0OO

J.0oooooO00OO0O0OO0OO0OO0O0OOCOOOOODO
0o0o0oooooooooooooooogouooD 19%4 0000000000000 DOODOO0O00ODOO
0000000000000 0O0000D0O0000DO0000DO0OoOooO (¢f. [1], p.102)0

(2000000000000 O0O00O0UO0O0DOODO0ODODO0ODODOOD0ODODOODODODOODO
coboooooboooobooooooboooooooobooooboooooooobooooooobobooooooon
cobooooboooooobooOoboooooooooooobooOooo0oooOoboOobooOoOoobOoOobooOoOooon
coooooooboooooboooooooooobooooooooboooooooooooooobooboOooon

goboooooobooooooboboooooobooboobooooboooobobOoobDoooboOoooDoooD
000000 (0b000)0000000DD0oOooOooO

gobooooooobobooooooboboooooobooboboooDbooobobOooobDoooDboOoooDoOooD
coooboodoobooooboooooooboU0«000000DOyOODOOOODOOOOOOOOOOOOO
coboooobooboooooboooobboooboobooooobboooooobOboOoboOoooobOboOobooOoOooon
coboodooboobooboooboooooobboooooobooooooobooOooooooooooooon
coooooooobooooooooboooooooooD «s0yO0O0O0OO0O0OO0OOOOODOOOOOOOODn
ooobooooobooooobooonoooo

0000000000000 (DOb00O00)00000000D0LO0ODO0ODO0OD0ODO0OOODODOODOODOO
00000000000 DL0O000D0O0000000DO000DDO0O00ODO0O0ODOOOn (¢f. [2)0

22 0OOOO
2000000 0000000000y=a+bx000000 (a,b00 Y
0)0000000:000000y000000000 Yi

o OO ODO

2, 00000000 az; +600000 00000000 Qa,b)= . 4
3

n

S {yi — (az; +b)}>*00000000000 ¢,b0000000

i=1

1 12” i
— b = — 2 2 2 b272 i 1721)1 2 b i L
nQ(aa ) n i:1(yl +a“xy + ax;y Yi + 2abT ) 0O X5 T

=92 + a%2? 4+ 0% — 20Ty — 207 + 2abT = {b— ( — aT)}* + (22 — T*)a® — 2@y — TY)a + y2 — °

_ _ Sey\2 5o
:{b—(y—az)}2+sia2—2sxya+s§z{b—(y—aw)}z—ksi(a—g) —ﬁ—ksz
T xT
0000a="2 b=g-a=y- 2F00000000000000000000 y—7="L(z-2)

Y
0000000000 2z00y000000O0O0O0O0O)

good

1] 00 00: 000000000000 OODDODODOODOOOOOOO?, 0000, 2009.
2] 00 00,00 00,00 00,CR.O0:00000000,0000000000, 2007.



